
KIT PORTANUMERO
VITPILEN 701 ‘19

HV7400-19

X2. TABELLA ALLUMINIO 
X1. KIT STAFFE DX/SX
X4. M8X16
X4. M5X14
X4. RONDELLA TEFLON Ø5
X4. RONDELLA LARGA Ø5
X4. DADO AUTOBLOCCANTEX4. DADO AUTOBLOCCANTE

KITISTRUZIONI DI MONTAGGIO

M5X14 M8X16 

RONDELLA 
TEFLON Ø5 

DADO
AUTOBLOCC.

RONDELLA 
LARGA Ø5


